AMERCARE PRODUCTS, INC.



17661 128TH Place NE Woodinville, WA 98072 Phone: (800) 556-6322 Fax: (800) 525-4042

Email: admin@amercareproducts.net



Pricing Discount for State of West Virginia RFQ Number: RJC693 10% discount off listed price

Effective Date 10/10/10

| Stock No. | Description | <u>Packing</u> | <u>Unit Price</u> | Case Price | | | | | | | | |
|-------------------------------|--------------------------------------|----------------|-------------------|------------|--|--|--|--|--|--|--|--|
| AMERFRESH FLUORIDE TOOTHPASTE | | | | | | | | | | | | |
| TP-P | 0.15 oz Toothpaste Packet | 1000/CS | \$0.048 | \$48.00 | | | | | | | | |
| TP-06 | 0.6 oz Fluoride Toothpaste | 720/CS | \$0.12 | \$86.40 | | | | | | | | |
| TP-085 | 0.85 oz Fluoride Toothpaste | 720/CS | \$0.15 | \$108.00 | | | | | | | | |
| TP-15 | 1.5 oz Fluoride Toothpaste | 144/CS | \$0.22 | \$31.68 | | | | | | | | |
| TP-300 | 3.0 oz Fluoride Toothpaste | 144/CS | \$0.32 | \$46.08 | | | | | | | | |
| TP-300-TC | 3.0 oz Tartar Control Toothpaste | 144/CS | \$0.45 | \$64.80 | | | | | | | | |
| TP-500 | 5.0 oz Fluoride Toothpaste | 72/CS | \$0.59 | \$42.48 | | | | | | | | |
| TP-700 | 7.0 oz Fluoride Toothpaste | 72/CS | \$0.87 | \$62.64 | | | | | | | | |
| TP-SEN | 4.3 oz Sensitive Toothpaste | 24/CS | \$1.40 | \$33.60 | | | | | | | | |
| TPWDR-02 | 2 oz Toothpowder in Resealable Bag | 200/CS | \$0.28 | \$56.00 | | | | | | | | |
| TPWDR-1 | 1 LB Toothpowder | 40/CS | \$1.08 | \$43.20 | | | | | | | | |
| TPWDR-4 | 4 LB Toothpowder | 10/CS | \$5.55 | \$55.50 | | | | | | | | |
| TP-2 | 2.0 oz Toothpowder in plastic bag | 200/CS | \$0.28 | \$56.00 | | | | | | | | |
| TP-4-BTL | 4.0 oz Toothpowder in plastic bottle | 60/CS | \$1.28 | \$76.80 | | | | | | | | |
| DA-085 | 0.85 oz Denture Adhesive | 24/CS | \$0.80 | \$19.20 | | | | | | | | |
| DA-24 | 2.4 oz Denture Adhesive | 24/CS | \$2.25 | \$54.00 | | | | | | | | |

| <u>AMERFRESH</u> | CLEAR GEL FLUORDIE TOOTHPAS | STE IN CLEA | R PLASTIC TU | <u>BE</u> |
|------------------|---------------------------------------|-------------|--------------|-----------|
| TP-06-G | 0.6 oz Clear Gel Toothpaste | 720/CS | \$0.13 | \$93.60 |
| TP-085-G | 0.85 oz Clear Gel Toothpaste | 720/CS | \$0.16 | \$115.20 |
| TP-15-G | 1.5 oz Clear Gel toothpaste | 144/CS | \$0.25 | \$36.00 |
| TP-300-G | 3.0 oz Clear Gel Toothpaste | 144/CS | \$0.45 | \$64.80 |
| TP-64-G | 6.4 oz Clear Gel Toothpaste | 72/CS | \$0.43 | \$69.84 |
| 17-04-G | 6.4 02 Clear Ger Toothpaste | 72/C3 | \$0.97 | 309.04 |
| AMERFRESH | TOOTHBRUSHES | | | |
| TB-SEC | Anti-Shank Security Toothbrush | 720/CS | \$0.16 | \$115.20 |
| TB-NS | No Shank Fingertip Toothbrush | 500/CS | \$0.55 | \$275.00 |
| TB-SH | Short Handle Toothbrush | 1440/CS | \$0.04 | \$57.60 |
| TB-30 | 30 Tuft Toothbrush | 1440/CS | \$0.04 | \$57.60 |
| TB-41 | 41 Tuft High Quality Toothbrush | 720/CS | \$0.12 | \$90.00 |
| TB-41C | 41 Tuft Green High Quality Toothbrush | 720/CS | \$0.12 | \$90.00 |
| TB-A | 52 Tuft High Quality Toothbrush | 144/BX | \$0.12 | \$17.28 |
| ТВ-Н | Clear Toothbrush Holder - 2 Piece | 100/CS | \$0.18 | \$18.00 |
| TB-CAP | Toothbrush Caps | 144/CS | \$0.14 | \$20.16 |
| DF-12 | Dental Floss 12 Yards | 144/CS | \$0.30 | \$43.20 |
| DF-30 | Dental Flosser Pick 30/BG | 250/CS | \$0.65 | \$162.50 |
| DF-100 | Dental Flosser Pick,100/BG | 12/CS | \$1.55 | \$18.60 |
| AMERERESH | ANTIBACTERIAL SOAP | | | |
| S-1/2 | #0.5 Soap, Wrapped | 1000/CS | \$0.039 | \$39.00 |
| S-1/2-UN | #0.5 Soap, Unwrapped | 1000/CS | \$0.035 | \$35.00 |
| S-3/4 | #0.75 Soap, Wrapped | 1000/CS | \$0.048 | \$48.00 |
| S-3/4-UN | #0.75 Soap, Unwrapped | 1000/CS | \$0.045 | \$45.00 |
| S-15 | #1.5 Soap, Wrapped | 500/CS | \$0.096 | \$48.00 |
| S-15-UN | #1.5 Soap, Unwrapped | 500/CS | \$0.09 | \$45.00 |
| S-25 | #2.5 Soap, Wrapped | 144/CS | \$0.20 | \$28.80 |
| S-3 | #3.0 Soap, Wrapped | 144/CS | \$0.25 | \$36.00 |
| S-3-UN | #3.0 Soap, Unwrapped | 200/CS | \$0.17 | \$34.00 |
| S-35 | #3.5 Soap, Wrapped | 144/CS | \$0.28 | \$40.32 |
| S-5 | #5.0 Soap, Wrapped | 72/CS | \$0.39 | \$28.08 |
| 3IN1-2 | 2.0 oz Shampoo, Soap, Shave Gel | 96/CS | \$0.30 | \$28.80 |
| 3IN1-4 | 4.0 oz Shampoo, Soap, Shave Gel | 60/CS | \$0.45 | \$27.00 |
| 3IN1-8 | 8.0 oz Shampoo, Soap, Shave Gel | 48/CS | \$0.65 | \$31.20 |
| 3N1-GAL | Gallon Shampoo, Soap, Shave Gel | 4/CS | \$9.75 | \$39.00 |
| SB-01 | Clear Soap Box - Hinged | 100/CS | \$0.20 | \$20.00 |
| HS-4 | 4 oz Hand Sanitizer | 24/CS | \$0.95 | \$22.80 |
| LS-GAL1 | Gallon Liquid Hand Soap | 4Gal/CS | \$9.75 | \$39.00 |

| RFQ #: RJC6 | 93 Amercare Product | Amercare Products, Inc. | | |
|------------------|---|-------------------------|---------|----------|
| AMERERESH | CLEAR SOAP | | | |
| S-15-C | #1.5 Clear Soap, Wrapped | 500/CS | \$0.18 | \$90.00 |
| S-2-C-D | 2.0 oz Clear Deodorant Soap, Wrapped | 200/CS | \$0.25 | \$50.00 |
| S-2-C-ND | 2.0 oz Clear Soap, Non-deodorant, Wrapped | | \$0.25 | \$50.00 |
| S-3-C | #3.0 Clear Soap, Wrapped | 144/CS | \$0.40 | \$57.60 |
| S-35-C | 3.5 oz Clear Soap, Wrapped | 144/CS | \$0.50 | \$72.00 |
| | | | | |
| | SHAVING PRODUCTS | | | |
| RAZ-SEC | Anti-Shank Security Razor | 500/CS | \$0.23 | \$115.00 |
| | High Quality Single Razor | 500/CS | \$0.065 | \$32.50 |
| RAZ-2-Super | High Quality Twin Razor | 500/CS | \$0.075 | \$37.50 |
| RAZ-1-USA | High Quality Single Razor, Made in USA | 500/CS | \$0.065 | \$32.50 |
| RAZ-BIC | Bic Razors, Single Edge | 1000/CS | \$0.089 | \$89.00 |
| RAZ-BIC-10 | Bic Razors, Single, 10/PK | 72 PK/CS | \$0.105 | \$75.60 |
| SC-P | Shave Cream Packet, 1000/CS | 1000/CS | \$0.048 | \$48.00 |
| SC-06 | 0.6 oz Shave Cream | 720/CS | \$0.21 | \$151.00 |
| SC-085 | 0.85 Shave Cream | 720/CS | \$0.25 | \$180.00 |
| SC~3 | 3.0 oz Shave Cream | 144/CS | \$0.55 | \$79.20 |
| SC~5 | 5.0 oz Shave Cream | 60/CS | \$0.87 | \$52.20 |
| S-MUG | 2.0 oz Shaving Mug Soap | 144/CS | \$0.38 | \$54.72 |
| SG-4 | 4.0 oz Clear Shave Gel | 60/CS | \$0.45 | \$27.00 |
| SG-8 | 8.0 oz Clear Shave Gel | 36/CS | \$0.65 | \$23.40 |
| AFL4 | 4.0 oz After Shave Lotion | 36/CS | \$0.45 | \$16.20 |
| BST-05 | 0.5 oz Bump Stopper | 12/CS | \$2.25 | \$27.00 |
| RAZ-BF | Bump Fighter Razor, 4/PK | 100/CS | \$0.95 | \$95.00 |
| 3IN1~2 | 2.0 ox Shampoo, Soap, Shave Gel | 96/CS | \$0.30 | \$28.80 |
| 3IN1-4 | 4.0 oz Shampoo, Soap, Shave Gel | 60/CS | \$0.40 | \$24.00 |
| 3IN1-8 | 8.0 oz Shampoo, Soap, Shave Gel | 48/CS | \$0.65 | \$31.20 |
| 3IN1-15 | 15.0 oz Shampoo, Soap, Shave Gel | 12/CS | \$1.25 | \$15.00 |
| AMEDEDECL | DEODORANT | | | |
| DC-P | Deodorant Cream Packet | 1000/CS | \$0.048 | \$ 48.00 |
| STD-05 | 0.5 oz Stick Deodorant | 144/CS | \$ 0.30 | \$ 43.20 |
| STD-05 | 2.0 oz Stick Deodorant | 144/CS | \$ 0.62 | \$ 89.28 |
| | 2.0 oz Stick Deodorant AP | 144/CS | \$ 0.58 | \$ 93.60 |
| STD-2-AP | 1.5 oz Clear Roll-on Deodorant AP | 96/CS | \$ 0.35 | \$ 33.60 |
| RD-15-C | | | \$ 0.78 | \$ 33.00 |
| PSD-5 | 5.0 oz Pump Spray Deodorant AP | 48/CS | \$ 0.76 | J 37.44 |
| <u>AMERFRESH</u> | SHAMPOO AND CONDITIONER | | | |
| SHP | Shampoo Packet | 1000/CS | \$0.048 | \$48.00 |
| SH-2 | 2.0 oz Shampoo | 96/CS | \$0.30 | \$28.80 |
| SH-4 | 4.0 oz Shampoo | 60/CS | \$0.45 | \$27.00 |
| SH-8 | 8.0 oz Shampoo | 48/CS | \$0.65 | \$31.20 |
| SH-GAL | Gallon Shampoo | 4/CS | \$9.75 | \$39.00 |

| RFQ #: RJC | Amercare Produc | Amercare Products, Inc. | | | | |
|------------------|---------------------------------|-------------------------|---------|---------|--|--|
| DSH-4 | 4 oz Dandruff Shampoo | 60/CS | \$0.45 | \$27.00 | | |
| BPS-4 | 4.0 oz Balsam Shampoo | 60/CS | \$0.45 | \$27.00 | | |
| BPS-15 | 15.0 oz Balsam Shampoo | 12/CS | \$1.25 | \$15.00 | | |
| 3IN1-2 | 2.0 oz Shampoo, Soap, Shave Gel | 96/CS | \$0.30 | \$28.80 | | |
| 3IN1-4 | 4.0 oz Shampoo, Soap, Shave Gel | 60/CS | \$0.45 | \$27.00 | | |
| 3IN1-8 | 8.0 oz Shampoo, Soap, Shave Gel | 48/CS | \$0.65 | \$31.20 | | |
| 2IN1-2 | 2.0 oz Shampoo & Conditioner | 96/CS | \$0.30 | \$28.80 | | |
| 2IN1-4 | 4.0 oz Shampoo & Conditioner | 60/CS | \$0.45 | \$27.00 | | |
| 2IN1-8 | 8.0 oz Shampoo & Conditioner | 48/CS | \$0.65 | \$31.20 | | |
| 2IN1-15 | 15.0 oz Shampoo & Conditioner | 12/CS | \$1.25 | \$15.00 | | |
| 3IN1-Gal | Gallon Total Body Shampoo | 4Gal/CS | \$9.75 | \$39.00 | | |
| CON-4 | 4.0 oz Conditioner | 60/CS | \$0.45 | \$27.00 | | |
| BPC-4 | 4.0 Balsam Conditioner | 60/CS | \$0.45 | \$27.00 | | |
| BPC-15 | 15.0 oz Balsam Conditioner | 12/CS | \$1.25 | \$15.00 | | |
| BS-15 | 15.0 oz Baby Shampoo | 12/CS | \$1.50 | \$18.00 | | |
| SHD-4 | 4.0 oz Dandruff Shampoo | 60/CS | \$0.50 | \$30.00 | | |
| LICE-2 | 2.0 oz Lice Shampoo | 24/CS | \$2.25 | \$54.00 | | |
| LICE-GAL | Gallon Lice Shampoo | 4/CS | \$24.75 | \$99.00 | | |
| AMERFRESH | ETHNIC HAIR PRODUCTS | | | | | |
| BERG-4 | 4.0 oz Bergamot | 60/CS | \$0.85 | \$51.00 | | |
| POM-4 | 4.0 oz Pomade | 60/CS | \$0.85 | \$51.00 | | |
| HG-4 | 4.0 oz Styling Gel | 60/CS | \$0.85 | \$45.00 | | |
| HF-4 | 4.0 oz Hair Food | 60/CS | \$0.85 | \$51.00 | | |
| HF-7 | 7.0 oz Hair Food | 24/CS | \$1.55 | \$37.20 | | |
| <u>AMERFRESH</u> | LOTION AND SKIN CARE | | | | | |
| LT-P | Hand & Body Lotion Packet | 1000/CS | \$0.048 | \$48.00 | | |
| LT-2 | 2.0 oz Hand & Body Lotion | 96/CS | \$0.30 | \$28.80 | | |
| LT-4 | 4.0 oz Hand & Body Lotion | 60/CS | \$0.45 | \$27.00 | | |
| LT-4-C | 4.0 oz Clear Lotion | 60/CS | \$0.50 | \$30.00 | | |
| CBL-4 | 4.0 oz Cocoa Butter Lotion | 60/CS | \$0.45 | \$27.00 | | |
| CBL-8 | 8.0 oz Cocoa Butter Lotion | 36/CS | \$0.65 | \$23.40 | | |
| CBL-15 | 15.0 oz Cocoa Butter Lotion | 12/CS | \$1.25 | \$15.00 | | |
| ALT-8 | 8.0 oz Clear Aloe Lotion | 48/CS | \$0.65 | \$31.20 | | |
| AVC-8 | 8.0 oz Aloe Vera Cream | 24/CS | \$1.15 | \$27.60 | | |
| LT~GAL | 1 Gallon Hand and Body Lotion | 4GL/CS | \$9.75 | \$39.00 | | |
| SC-4 | 4.0 oz Skin Cream | 60/CS | \$0.85 | \$51.00 | | |
| BOG-65 | 6.5 oz Baby Oil Gel | 24/CS | \$1.50 | \$36.00 | | |
| PJ-1 | 1.0 oz Petroleum Jelly | 144/CS | \$0.65 | \$93.60 | | |
| PJ4 | 4.0 oz Petroleum Jelly | 60/CS | \$0.75 | \$45.00 | | |
| AC-1 | 1.0 oz Acne Ointment | 24/CS | \$1.50 | \$36.00 | | |
| FP-4 | 4.0 oz Medicated Foot Powder | 60/CS | \$0.68 | \$40.80 | | |
| BP-12 | 12.0 oz Body Powder | 12/CS | \$1.48 | \$17.76 | | |

| RFQ #: RJC6 | Amercare Product | s, Inc. | 109 | % Discount |
|------------------|--------------------------------------|---------|---------|------------|
| MBP-10 | 10.0 oz Medicated Body Powder | 24/CS | \$1.48 | \$35.52 |
| SBL-4 | 4.0 oz Sun Block Lotion, SPF 30 | 24/CS | \$2.25 | \$54.00 |
| | , | · | | |
| <u>AMERFRESH</u> | ONE TIME USE PACKETS | | | |
| SH-P | 0.25 oz Shampoo Packet | 1000/CS | \$0.048 | \$ 48.00 |
| SC-P | 0.25 oz Shave Cream Packet | 1000/CS | \$0.048 | \$ 48.00 |
| LT-P | 0.25 oz Hand & Body Lotion Packet | 1000/CS | \$0.048 | \$ 48.00 |
| DC-P | 0.15 oz Deodorant Cream Packet | 1000/CS | \$0.048 | \$ 48.00 |
| TP-P | 0.15 oz Toothpaste Packet | 1000/CS | \$0.048 | \$ 48.00 |
| TP-P-G | 0.15 oz Clear Gel Toothpaste Packet | 1000/CS | \$0.055 | \$ 55.00 |
| AMERFRESH | COMBS AND BRUSHES | | | |
| C-5 | 5" Pocket Combs | 2160/CS | \$0.02 | \$43.20 |
| C-7 | 7" Comb | 1440/CS | \$0.03 | \$43.20 |
| C-2800 | 8" Ladies Dress Comb | 288/CS | \$0.15 | \$43.20 |
| C-567 | 5" Afro Mini Pick | 576/CS | \$0.12 | \$69.12 |
| C-2655 | 6" Afro Comb with Handle | 576/CS | \$0.12 | \$69.12 |
| C-2950 | 8" Afro Comb with Handel | 144/CS | \$0.25 | \$36.00 |
| C-2751 | 7" Barber Comb Tapered | 144/CS | \$0.25 | \$36.00 |
| HB-01 | Hair Brush 7 Rows Nylon | 288/CS | \$0.35 | \$100.80 |
| HB-SET | Comb and Brush Set | 288/CS | \$0.54 | \$155.52 |
| HB-V | Vented Hair Brush | 288/CS | \$0.40 | \$115.20 |
| P-BR | Palm Brush/Comb, No Handle | 288/CS | \$0.20 | \$57.60 |
| MB-01 | Military Club Brush, No Handle | 288/CS | \$0.75 | \$216.00 |
| FEMININE H | YGIENE PRODUCTS | | | |
| AF-288 | Sanitary Napkins- Maxi Regular | 288/CS | \$0.075 | \$21.60 |
| AF-250 | Sanitary Napkin- Maxi pad | 250/CS | \$0.075 | \$18.75 |
| AF-290 | Sanitary Napkins- Overnight | 250/CS | \$0.105 | \$26.25 |
| 4-147 | Vended Sanitary Napkin | 250/CS | \$0.125 | \$31.25 |
| PS-296 | Panty Shield, 22 CT, 18 BX/CS | 396/CS | \$0.04 | \$15.84 |
| AMT-500 | Tampons- Indiv Wrapped | 500/CS | \$0.10 | \$50.00 |
| T-500 | Tampons- Vending | 500/CS | \$0.125 | \$62.50 |
| K-260 | Waxed Sanitary Disposal Bag | 500/CS | \$0.04 | \$20.00 |
| | | | | |
| INTSITUTIO | <u>NAL BLANKET TEXTILE LINEN, CL</u> | | | |
| WB-6284 | Wool Blanket 62 x 84 | 20/CS | \$13.75 | \$275.00 |
| TB-6690 | Thermal Blanket 66 X 90 White | 30/CS | \$7.50 | \$150.00 |
| TB-6690-A | THERMAL BLANKET 66 X 90 ASSORT COLOR | 20/CS | \$8.95 | \$179.00 |
| WC-12 | 12" X 12" Washcloth | 60/PK | \$0.25 | \$15.00 |
| TT-2040 | TERRY TOWEL 20" X 40" | 12/PK | \$2.00 | \$24.00 |
| CVD | Disposable Coveralls | 25/CS | \$1.50 | \$37.50 |
| BC-1 | Bouffant Cap | 1000/CS | \$0.045 | \$45.00 |

| RFQ #: RJC6 | 93 Amercare Product | Amercare Products, Inc. | | |
|-------------|------------------------------------|-------------------------|----------|----------|
| KF-1 | Kung Fu Shoes | 36 PR/CS | \$2.50 | \$90.00 |
| ST-1 | Shower Shoes | 36 PR/CS | \$0.95 | \$34.20 |
| ST-Deluxe | Deluxe PVC Shower Shoe | 36 PR/CS | \$2.75 | \$99.00 |
| CS-1 | Step-In Canvas Shoes | 24 PR/CS | \$4.95 | \$118.80 |
| FOOD SERVI | CE PRODUCTS | | | |
| FS-G | Poly Food Service Glove | 10000/CS | \$0.0055 | \$55.00 |
| PA-1 | Poly Apron 26" X 46" | 1000/CS | \$0.048 | \$48.00 |
| PS-1 | Plastic Spoon Individually Wrapped | 1000/CS | \$0.03 | \$30.00 |
| MUG | 12.0 oz Plastic Mug | 96/CS | \$0.95 | \$91.20 |
| CUP | 8.0 oz Plastic Tumbler Clear | 288/CS | \$0.20 | \$57.60 |
| MS-1 | Moisture Towelette | 1000/CS | \$0.025 | \$25.00 |
| MISCELLANE | OUS ITEMS | | | |
| SC-1 | Shower Cap | 200/CS | \$0.15 | \$30.00 |
| GL-L | Latex Gloves-5 mil | 1000/CS | \$0.059 | \$59.00 |
| GL~V | Vinyl Gloves-5 mil | 1000/CS | \$0.059 | \$59.00 |
| TLY-2 | Tylenol 2 Pack | 50/BX | | |
| LB-CL | Chap Lip Balm | 60/JR | \$0.52 | \$31.20 |
| LP-CS | Chap stick Lip Balm | 24/BX | \$0.95 | \$22.80 |
| GP-01 | 3" Golf Pencil | 144/BX | \$0.035 | \$5.04 |
| PEN-SEC | Security Flexi Pen | 100/BX | \$0.19 | \$19.00 |
| CL-FIN | Fingernail Clippers-No File | 24/BG | \$0.35 | \$8.40 |
| CL-TOE | Toenail Clippers-No File | 24/BX | \$0.65 | \$15.60 |

BARBER SHOP SUPPLIES

We sell assorted Barber Shop supplies including all **Oster**, **Wahl**, **and Andis** clippers, trimmers, replacement parts, disinfectants, neck strips, hair cutting capes, barber smocks and other assorted supplies.

We pack made to order admission and hygiene kits. Any items, any quantity. Please call toll free at (800) 556-6322 for more details and pricing.

Amercare Products can provide you with most name brand commissary items such as **Colgate** and **Crest** Toothpaste, **Norelco** Electric Shavers, **Dove** Soap, **Ivory** Soap, and **Mennon** Deodorant. If you are looking for anything that is not on this list, please call us. We can find just about anything for you.

Amercare Products, Inc. is a woman, minority owned business.



MODERA

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Guotation RJC693

| | ADDRESS CORRESPONDENCE TO ATTENTION OF | 1 |
|---|--|---|
| , | ARA LYLE | |
| | 04-558-2544 | 1 |

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

| DATE PRINTE | | TER | MS OF SAL | Ė | \$HI | P VIA | F | О.В | | FREIGHT TERMS |
|---|-------------------------|---------|------------------------|----------------|---------------------------|---|-----------|-----------------------------|------|-------------------|
| 12/23/20 BID OPENING DATE: | | 1 /00/ | 2077 | | | DID (| \ | 771 T' N # 777 | 0.7 | - 2 A DM |
| 200000000000000000000000000000000000000 | 444 (1884) (885) (1944) | 1/06/2 | 33 33 0 33 0 5 1 3 1 3 | CAT | 0.00000000 <u>4.2</u> 300 | รังเด้เวียบใหม่ ได้เรียบใหม่เหมือน รัก | PENING | าดดับ หน้าจังหาดีการต่องจัง | | ; 30PM |
| LINE | QUAN | TITY | UOF | NO | li bM.f | JUMBER: | UN | T PRICE | | AMOUNT |
| 2. | ĀDD | ENDUM | ACKN | ANSWI OGLIW | SEMENT I | 2 ATTACHED S ATTACHI WITH YOU | | | | |
| \$I YC | | D RETU | | | | DISQUALTI | | | | |
| , , | ******** | ** | | | nmorr | ************************************** | 10 . D.T. | ICO 2 | | |
| | | | | | REQU. | ISITION 1 | O.: ROC | 093 | | |
| AD. | DENDU | m acki | OWLED | GEMEN | I T | | | | | |
| AD. | DENDU | M(S) A | ND HA | VE MA | DE THE | F THE FOI NECESSARY CATION, A | REVISI | | | |
| DIO. | | m no. | s: V | | | | | | | , |
| no | .(2). | W!} | , | | | | | | 1 | |
| Mo | . 3 . | | | | | | | | | |
| NO | . 4 . | | | | | | | | | , |
| No | . 5 . | | | - | | *************************************** | | | | |
| | | | I . | | | ONFIRM THE | | | THE | |
| | | | | SEE HEV | ERSE SIDE FOR | TERMS AND CON | DITIONS | | | |
| DIGNATURE - | 1/ | 1 Euro | Z | | | TELEPHONE 420 | 489-95 | 71 | DATE | 2-3/-242 |
| Presing | 7-2-1 | FEI | 4 91 | Z/T(| 2820 | <u> </u> | ADD | | | TO BE NOTED ABOVE |
| WHEN | RESPO | NDING T | O RFQ. | | | ADDRESSI | | | | |

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bld.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



DOOZUK

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for GFONUMBER Quotation RJC693

2

ADDRESS COHRESPONDENCE TO A TENTION OF SECOND TARA LYLE 304-558-2544

oH--¤ Ţ Ö

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

| The bearing the bearing of the contract of the | NTED | TERMS OF | SALE | SHIP VIA | | F.O.B. | FREIGHTTERMS |
|--|--|---|--|---|--------------------------------|--|---------------------|
| 12/23 | | 01/06/2011 | | T1, 44 44 | | | 700000 |
| | | | CAT | |) () | | 01:30PM |
| LINE | QUA | NTITY UOP | ÇAT. NO | ITEM NUMBER | | UNIT PRICE | AMOUNT |
| • | REPRESE ORAL DI AND ANY INFORMA | ENTATION M ISCUSSION Y STATE PE ATION ISSU | ADE OR AS HELD BETV RSONNEL I ED IN WRI | VEEN VENDOR'S IS NOT BINDIN ITING AND ADD ICIAL ADDENDU | MAI RE IG DED IM I | DE DURING ANY EPRESENTATIVES ONLY THE TO THE ES BINDING. | |
| | WITH TH | | DUM ACKNO | | НФШ | E LD BE SUBMITTE | ED . |
| | | | END OF | ADDENDUM NO. | 2 | • | |
| 001 | | I.S 1 | | -00-99-000 | | | |
| | PERSONAI | L HYGTENE | | | | , A. V. L. S. C. | |
| IGNATURE | | V - 1/101- | SEE HEVERSE | SIDE FOR TEAMS AND CO TELEPHONE | TIONS | IONS DATE | |
| ITLE 15 | LEUP. | FEIN | <u>Carrent</u> | | | | 12-31-21 |
| // Re | 51 / bel | 1 . | | | | | S TO BE NOTED ABOVE |
| WHE | EN RESPO | MDING TO REC | I, INSERT NA | ME AND ADDRESS | INS | SPACE ABOVE LABEL | ED 'VENDOR' |



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RJC693

PAGE 1

TARA LYLE

ממטט מיים מ

T NOCCAR

Amercare Produts, Inc. 17661 128th Place NE Woodinville, WA 98072

| \$ | F |
|----|---|
| Þ | E |

REG'L JAIL & CORR'L AUTH'Y
VARIOUS LOCALES AS INDICATED
BY ORDER

| 12/03/ | 90177917090090050. | | ING OF SA | | | 9)105 V (G | | г.у.д | <u> </u> | THE WATER I ENWS |
|----------------------------|--------------------|------------------|--------------|---|---|---|----------------------|-----------------------|-------------|-------------------|
| 12/03/ BID OPENING DATE | : (| 01/06/ | 2011 | | 1 | BTF | OP | ENTIG TIME | 01 | :30PM |
| UNE | | VITTY | UOP | CAT. NO | ITE | M NUMBER | | UNITPRICE | | AMOUNT |
| | | | | | | | 8889 (888) | | | |
| | | | | | | _ | | | | |
| | | | | | DUM NO. | 71 | | | | |
| | | | 4 | ואישרותי | DOM NO. | بالم | | • | | |
| | 1. TO | MOVE 1 | THE B | ID OP | ENING I | ATE FROM | 1 61 | /31/2011 TO | | |
| | 01/06/2 | | : | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | , , | | |
| • | | | | | | IS ATTAC | | | | |
| | | | | | | | | ITH YOUR | | |
| | BID. I DISQUAI | | | | | URN MAY | RES | OTT. TN | | |
| į . | DISCOM | コエヒィーゲン | ETOW (| Pr IO | pr pro. | | | | | |
| | EXHIBIT | r 10 | | | | | | | | , |
| | | ĺ | | | | | | | | |
| | | | , | 13 K. | REÇ | OISITION | фo | .: RJC693 | | · |
| , | ADDENDU | מאל א כיוצו | ויינו דומיסו | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | inni | | | | | |
| 4 | ADDENIA. | M ACVI | MOMTE |) GEME | ИТ | | | | | |
| | I HEREE | Y ACKI | OWLE | GE R | ECEIPT | OF THE F | orr | OWING CHECK | ED | |
| | | | | | | | | REVISIONS TO | YM C | |
| | PROPOSA | L, PL | ans ai | VD/OR | SPECIF | 'ICATION, | ET | c. | | |
| | ADDENDU | TM NT | c. | *************************************** | | | | | | , |
| • | ADDENDO | 13 | э : | | | | | | | |
| , | NO.(1). | WIT | . | | | | | | | |
| | | | | | | • | | | | |
| I | NO. 2 . | | |] | | | | | | |
| , | 2 | | | | | | | | | |
| | NO. 3 . | | • | - 1 | | | | | | |
| 1 | 10.4. | | | | | | | | | |
| | | | | | | | ĺ. | | • | |
| ļ · | 10.5. | , | | ļ | | | | • | | |
| | F FIRTH THE | (1111174 76 7777 | 177 Y 75 FEE | | DD 000 | CONTRACTOR | | DECETES CS | large a an- | |
| | | | | | | CONFIRM REJECTIO | | RECEIPT OF | THE | |
| | ال المالية ليدليد | 1. (0) | | CAU | THE POR | ight in the state of the state | ., [0] | ر التواسلسات البلد ال | | |
| | | | | | | | | | | |
| SIGNATURE // | <i>)</i> | 22. | | SEE REV | ERSE SIDE F | OR TERMS AND C | tiono: | IONS | DATE | |
| 11/- | encs | 1den | <i>yz</i> | | | (42)S |) 4 o | PJ | DATE / | 2-31-2010 |
| TITLE DE OF | 72x -1 | FEI | N 4 / | 1602 | \$20. | | | ADDRESS CHA | ANGES | TO BE NOTED ABOVE |

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

Ť

RJC693

PAGE

TARA LYLE 304-558-2544

Amercare Produts, Inc. 17661 128th Place NE Woodinville, WA 98072 REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

| DATEPHIN | 160 | ILH | MS OF SAL | Z | SHIP VIA | F.U.B. | SACIORISI ISBNO |
|-------------------|---|---------------|----------------------------|---|-----------------------------|--------------------|---------------------|
| 12/03/ | 2010 | | | | | | |
| BID OPENING DATE: | | 11/06/2 | 2011 | | BID | OPENING TIME 0 | 1:30PM |
| LINE | 180000000000000000000000000000000000000 | VTITY | UOP | CAT, NO. | ITEM NUMBER | UNIT PRICE | AMOUNT |
| | | | | NO. | | | |
| | | | | | • | | |
| | 77777 | NATION O | 4F E3 7 D 1 | . 3.5 FTNTI | DERSTAND THAT AN | ן ער אומיטיא ד. | • |
| | YENDOR | MUST C | TEAKI | INIO K | PERSIAND INAL AN | L VERDALI | - |
| | REPRESI | ENTATT C | ON MAI | DE OR | ASSUMED TO BE M | L DURING ANY | |
| + | PRAL D | [SCUSS] | CON HI | ELD B | TWEEN VENDOR'S | REPRESENTATIVES | |
| | AND AN | Y STATI | E PER | SONNE | IS NOT BINDING | ONLY THE | |
| | INFORM | , MOITA | CSSUE |) NI C | VRITING AND ADDE | P TO THE | |
| | SPECIF: | ICATIO | NS BY | AN O | FFICIAL ADDENDUM | IS BINDING. | |
| | | - | | | / / / | 18/1/ | |
| | | | | | [| X / Hanne | |
| | | | | | 11/2000 | Oppor | |
| | | | | | QT/ | SNATURE | |
| | | | | | D1. | | , |
| | | | | | X +17 000 | = DKSDN 475 2 | 对 () |
| | | | | | 1 1100150115C | 1 1/20/ 1 1/2 ~ | |
| | | | | | | | • |
| | | | | | i Co | PMPANY | |
| | | | | | 10 | 31-20/0 | 1 |
| | | | | | | 1 3 / | . |
| | | · | | | מם מ | ATE | |
| | | | | | | | |
| | | | | | | | 1 |
| , | NIOTER . r | מנודים או | ירדאינורוני דרדאינורוני | מאל אליו | NOWIED CEMENT CH | OULD BE SUBMITTE | n |
| | | | וטמפענ | IM AC | MOMTED GENTRAL DIE | DONO DE SOMETER | ² · |
| 1 | WITH TI | TE BID | | | | | |
| | | | | | | | |
|] | REV. 09 | 9/21/20 | 009 | | | | |
| | | | | | | | i l |
| | | | | | | i | |
| | | | | | | | |
| | | | | END (| F ADDENDUM NO. | <u>.</u> | . |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| 001 | 1 | • 1 | ىد S | { | 95-00-99-000 | İ | |
| | | 1 | | | | | |
| ļ | ₽ERSON? | AL HYG. | ENE I | PRODUC | rts | | |
| | | | | | | | |
| | | | | | | | j |
| | | | | | | | |
| | <u> </u> | | | SEE RE | VERSE SIDE FOR TERMS AND CO | NDITIONS | |
| SIGNATURE | a proposition | () | | 100000000000000000000000000000000000000 | 7 CONTENENT | 29-9-7- DATE | 13/3/3/3/2 |
| | (42) | S/Tla | 0112- | / | 1162116~/ 1425)4 | 5/1/1 | 173/30/0 |
| TITLE 421-14 | グリッラィ | クビド | an 9/ | 1/ | (2/21) | ADDRESS CHANGE | S TO BE NOTED ABOVE |

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



HODZEN

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for RFGNUMBER Quotation RJC693

3

ADDRESS:CORRESPONDENCE TO A TENTION OF

TARA LYLE 304-558-2544

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED

ر-¤ BY ORDER ð

| 12/03/2 | 2010 | ., | MS OF S | ALE | | SHIP VIA | FOR | FREIGHT TERMS |
|-------------------|---|---------------|----------|------------|---|-----------------|-------------|--------------------------|
| BID OPENING DATE: | <u> 1500 de diversos en el</u> | 1/06/2 | 10000000 | i Awa | | | PENING TIME | 01:30PM |
| LINE | QUAN | ITITY | UOP | CAT. NO | ITE | M NUMBER | UNITPRICE | AMQUNT |
| * | **** | THIS | IS T | HE EN | OF RE | O RJC6 | 93 ***** TC | TAL: |
| | VPVVIII AND | | - | |] " " | 2 | | |
| | | | | | | | | |
| | | | | | | • | | |
| | | | | , | | | , | |
| | | | | • | *************************************** | | | |
| | | | | | | | | |
| , | | | | • | | | | |
| | | | | | | | | |
| | | | | | | • | | |
| | | | | | | | | |
| | | | | | | | | |
| · | | | | | | | | |
| , | | | | | | • | | |
| | | | | | | | | |
| | | | | | | | | • • |
| | | | | | | | | |
| | | | | | | | | , |
| | | | | | | | - | |
| | | · | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | ************* | | epp pr | VERSE SINE | OR TERMS AND CO | VOITIONS | |
| SIGNATURE | riel | //// | 1993 | | | TELEPHONE | 429-9075 | DATE /2-3/->0/0 |
| TIMLE PYESIA | | FE | | 1755 | 282v | | ADDRESS C | HANGES TO BE NOTED ABOVE |



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

Ţ

RJC693

| :P/ |)OE | ं |
|-----|-----|---|
| | | |
| | 1 | |

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

REG'L JAIL & CORR'L AUTH'Y
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY

Amercare Produts, Inc. 17661 128th Place NE Woodinville, WA 98072

| DATE PRIN | TED | TEF | MS OF SA | LE | SHIP VIA | \$1000 P | F.O.8 | FREIGHTTERMS |
|---|---|-----------|----------|------------------------|-------------------------------------|----------|------------------------------|-------------------|
| 11/30/ | | | | | | | | |
| BID OPENING DATE | : : :::::::::::::::::::::::::::::::::: | 01/31/ | 2011 | Postajo <u>Za</u> okto | В | ID (| DPENING TIME O | 1:30PM |
| LINE | QUA | VTITY | UOP | CAT. | ITEM NUMBER | | UNITPRICE | AMOUNT |
| 0001 | | 1 | LS | | 095-00-99-000 | | | |
| | PERSON | AL HYG | IENE | PRODU | стѕ | ſ | | |
| | | | | | | | | |
| | | | | OPE | N-END CONTRAC | Т | • | |
| | OBEN-E | ND CON | TOACT | | ROVIDE PERSONA | | SADE ZUVOTENE | |
| | į. | | | } | IRGINIA REGIO | | | |
| | | | | | | | IER AUTHORIZED | |
| | STATE | AGENCI | ES PE | R THE | ATTACHED SPE | CIF | CATIONS. | |
| | INQUIR | | | | | | | |
| | | | | | BE ACCEPTED U | | | |
| | | | | | . QUESTIONS A E-MAIL. IN OF | | TO ASSURE NO | |
| • | VENDOR | RECEI | VES A | N UNF | AIR ADVANTAGE, | , NC | SUBSTANTIVE | |
| | | | | | ERED ORALLY. REFERRED. ADDR | | POSSIBLE, S INQUIRIES TO: | |
| | | QULU. | 10110 | | KEI EKKEDI ABB | | , indoining | |
| | TARA L DEPART | ; | - ADM | THITOT | 73 A T T 73 A I | | | |
| | PURCHA | | | | KAITUN | | | |
| | 2019 W | | - 1 | | , EAST | ĺ | • | |
| | CHARLE | STON, | WV 25 | 305 | | | | |
| | FAX: | , | | | | | | |
| | E-MAIL | : TAR | A.L.L | ALE9M | v.gov | | | |
| | | | | ĺ | | | | |
| | | | | | | | | |
| • | EXHIBI. | 1 5 | | | • | | | |
| 00.000000000000000000000000000000000000 | 500 N 100 | | NO SOCIO | 00866 | BARESME PARAMETER | | NHI CANA | |
| IIGNATURE | and the second | (-77) | mm | OEE HEV | ERSE SIDE FOR TERMS AND TELEPHON | | ALCO COLODATE | |
| TILE OF THE | car (| 1 11 6200 | 1 91-1 | y | 2820 | 2) | 40/JJJ | TO DE MOTEO ADOVE |
| 11// () 2 | 102 1 | 1 | 7/1 | 1 ~ | -500 | | ADDRESS CHANGES | TO BE NOTED ABOVE |

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



NOOKEA NOOKEA

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation RJC69

1 0

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

| 11/30/2010 | | SHIP VIA | | FREIGHTTERMS |
|---|---|--|--|--------------|
| 1 | 01/31/2011 | BID | OPENING TIME O | 1:30PM |
| LINE QUAN | ITITY UOP CAT. | ITEM NUMBER | UNITPRICE | AMOUNT |
| | | IS CONTRACT BECO A PERIOD OF ONE | MES EFFECTIVE ON | |
| NECESSA ORIGINA NOT EXC | ARY TO OBTAIN A AL CONTRACT. TH CEED TWELVE (12) | | RENEW THE ME" PERIOD SHALL THIS "REASONABL | 1 |
| WRITTEN UNLESS | NOTICE. SPECIFIC PROVIS | DIRECTOR OF PUR IONS ARE STIPULA | TED ELSEWHERE | |
| PRICING | S SET HEREIN ARE | ENT, THE TERMS, FIRM FOR THE LI | FE OF THE | |
| WRITTEN SUBMITI DAYS PR BE IN A ORIGINA | N CONSENT OF THE FED TO THE DIRECT RIOR TO THE EXPI ACCORDANCE WITH | MAY BE RENEWED SPENDING UNIT A TOR OF PURCHASING RATION DATE. SU THE TERMS AND CO SHALL BE LIMITED | ND VENDOR, G THIRTY (30) CH RENEWAL SHALL NDITIONS OF THE | |
| RIGHT T NOTICE SUPPLIE | TO CANCEL THIS CO TO THE VENDOR IN ED ARE OF AN INFE | CTOR OF PURCHASI DNTRACT IMMEDIATE THE COMMODITIES ERIOR QUALITY OR DF THE BID AND CO | ELY UPON WRITTEN S AND/OR SERVICES DO NOT CONFORM | |
| AUTHORI MARKET, ESTIMAT IMMEDIA | ZE A SPENDING UN WITHOUT THE FIL E, ITEMS SPECIFI TE DELIVERY IN E (INCLUDING BUT N | E DIRECTOR OF PUR NIT TO PURCHASE OF LING OF A REQUISI ED ON THIS CONTR MERGENCIES DUE TO NOT LIMITED TO DE | ON THE OPEN ITION OR COST RACT FOR TO UNFORESEEN ELAYS IN TRANS- | |
| GNATURE ELLE ST. | SEE REVI | ERSE SIDE FOR TERMS AND CONTENTS OF THE PROPERTY OF THE PROPER | DITIONS DATE | 2-3/-20/0 |

WHEN RESPONDING TO REQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RJC693

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

AFQ NUMBER

REG'L JAIL & CORR'L AUTH'Y
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY
TYPE NAME/ADDRESS HERE

| DATE PRI | assay, (1991) (1991) (1991) | TER | MS OF SAL | E | SH | FVIA | F | O.B. | FREIGHTTERMS |
|------------------|--------------------------------------|--------------------------------------|-------------------------------------|------------------------------------|--|---|----------------------------------|----------------------------|-------------------|
| 11/30 | | | | | | | | | |
| BID OPENING DATE | | 01/31/ | 2011 | | | BID | OPENING | TIME 0 | L:30PM |
| LINE | PORTAT | | UOP AN U | CAT NO NANTI | | INCREASE | | VOLUME | AMQUNT |
| | APPROX THE ST THAT T | TIES: IMATIO ATE SP HE CON | NS ON ENDIN TRACT | LY, B G UNI Shal | ASED ON T. IT I L COVER | IN THE R ESTIMATE S UNDERS THE QUAN | S SUPPLI TOOD AND TITIES A | ED BY AGREED CTUALLY | E |
| | WHETHE ORDERI WRITTE | R MORE NG PRO N STAT | OR L CEDUR E CON | ESS T E: SP Tract | HAN THE ENDING U ORDER (| E TERM O QUANTITI NIT(S) S FORM NUM | ES SHOWN HALL ISS BER WV-3 | UE A | |
| , | THE OR VENDOR MAILED RETAIN | IGINAL AS AU TO TH ED BY | COPY THORIZ E PURO THE SF | OF T ZATIO CHASI PENDI | HE WV-39 N FOR SH NG DIVIS NG UNIT. | | E MAILED A SECOND A THIRD | TO THE COPY COPY | |
| | FOR BA CONTRA WITHOU | NKRUPT CT NULI T FURT | CY PRO . AND IER OF | VOID RDER. | ION, THE , AND TE | VENDOR/C STATE M RMINATE | AY DEEM SUCH CON | THE TRACT | |
| | SHALL CONDIT DOCUME AGREEM | SUPERSE IONS WH NTS SUCENTS OF | EDE AN HICH M CH AS R MAIN | IY ANI IAY AI PRICE ITENA | D ALL SU PPEAR ON E LISTS, | INED IN BSEQUENT ANY ATT ORDER FO EMENTS, OM. | TERMS A ACHED PR ORMS, SA | ND INTED LES | |
| | REV. 0 | 5/26/20 | 109 | | | | | | |
| | CURREN IS ISSI | TLY UT] | LIZES | A BAN | ISA PURC IK. THE IF WEST | HASING CA SUCCESSI VIRGINIA | ARD PROG FUL VEND VISA PU | | |
| SIGNATURE | ue 8i | <u> Llev</u> e | -6 | SEE REV | | TERMS AND CON | ditions 5-489-7 | 3575 DATE | 2-3/20/0 |
| TILE DYES | , mez | 7 FEIN | J | 9/- | 15528 | 20 | ADDI | RESS CHANGES | TO BE NOTED ABOVE |
| WHI | EN RESP | DING T | O RFQ, | NSERT | NAME AND | ADDRESS II | V SPACE AE | OVE LABELE | D 'VENDOR' |



HODERA

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

RJC693

| PAGE |
|------|
| 4 |

| ADDRESS | CORRESPON | DENCE TO AT | TENTION OF: |
|---------|-----------|-------------|-------------|
| | | | |

TARA LYLE 304-558-2544

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

| DATE PRIN | | TER | IMS OF SALE | SA | P VIA | F.O.B, | FREIGHTTERMS |
|-------------------------|----------------------------|---------------------------|----------------------|--|-------------------------------------|--|------------------------|
| 11/30. BID OPENING DATE | | 01/31/ | דומכ | | D T D | ODENING TIME | 0.1 - 7.0714 |
| LINE | ALIO | NTITY | LIOD CA | | NUMBER | OPENING TIME UNIT PRICE | 01:30PM |
| | | | NC. | 1.4 P(M.) | VOIMBEA. | UNITARE | AMOUNT |
| | CARD F AGENCY | OR PAY | MENT OF CONDITIO | ALL ORDERS N OF AWARI | S PLACED | BY ANY STATE | |
| | | | | | | | |
| | EXHIBI | T 4 | | | | | · |
| 1 | IN THE AND CO AND OT | BID H NDITIO HER LO | NS OF TH CAL GOVE | AL TO EXTE E BID TO C RNMENT BOD | END THE P COUNTY, S DIES, THE | VENDOR INDICAT RICES, TERMS, CHOOL, MUNICIF BID SHALL EXT | 'AL |
| | VIRGIN | IA. I | F THE VE | SIONS OF T NDOR DOES ONDITIONS | NOT WISH | TO EXTEND THE | |
| | POLITI | CAL SU | BDIVISIO | NS OF THE | STATE, T | HE VENDOR MUST | - |
| , | SHALL MANNER | NOT PR | EJUDICE | THE AWARD | OF THIS | ID. SUCH REFU CONTRACT IN AN | ISAL. |
| | REV. 3 | /88 | - | | | | |
| | | | N | DTICE | | • | |
| | A SIGN | ED BID | MUST BE | SUBMITTED | то: | , | |
| I | | | ENT OF AL | DMINISTRAT | ION | | |
| | B | UILDIN | 3 15 | | | | · |
| | | | 1 | STREET, E 25305-013 | 3 | | |
| | | | | | - | | |
| | | | | | | | |
| | THE EN | VELOPE | OR THE I | D MAY NO | T BE CONS | | OF . |
| SIGNATURE | dus (| je Jeje | SEE | REVERSE SIDE FOR | TERMS AND CON | the state of the second se | MATE /2-3/-20/0 |
| TITLE MESI | 1782-1 | FEII | 9/-11 | -C282V | | ADDRESS CHAP | IGES TO BE NOTED ABOVE |
| , WHI | EN RESPO | DNDING T | O REQ INSE | BT NAME AND | ADDRESS IN | N SPACE ABOVE LAE | RELED 'VENDOR' |



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

6H-P

T O

RJC693

TARA LYLE 304-558-2544

RFQ NUMBER

ADDRESS CORRESPONDENCE TO ATTENTION OF

REG'L JAIL & CORR'L AUTH'Y VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

| 2017/01/04/A00/A00 01/01/03/A00/01/05/A00/ | TED | TEF | IMS OF SAL | Ē | ŞHIP | VIA | F | O.B. | FREIGHT | TERMS |
|--|------------------------|------------------------|------------|---------------|------------------|-----------|----------|--|---|--|
| BID OPENING DATE | | 01/31/ | 2011 | | | n 7 n | DEUTUG | T T 11 = 0 | | |
| LINE | 1 2020 - 153 200 100 4 | <u>01/31/</u> VIIIY | UOP | CAT | | | OPENING | Printed and the second of the second of the second | 1:30PM | |
| CINC | 300 | YUU I | UUF | NO. | ITEMNU | MAEH | UNI | TPRICE | AMO | UNT |
| | } | | | | | | | | | |
| | SEALED | DID | | | | | | | | |
| | SEALED | DID | | | | | ļ | | | |
|] | | | | | | | | | | |
| | BUYER: | - | | | TL/FILE | 32 | | | - | |
| - | RFQ. N | n • | | | RJC693- | | | | | |
| | 1. Q. M | U., | | | KJC033- | | | | - | |
| | BID OP | ENING | DATE: | | 01/06/2 | 2011 | | | - | |
| | | | | | | | | | | |
| | BID OF | ENING | I IME: | | 1:30 PM | 1 | | | | |
| | | | | | | | | | | |
| | | | | - | | | | | | |
| | PLEASE | PROVI | DE A | AX N | UMBER IN | CASE IT | IS NECE | SSARY | | |
| | IU CON | FACT Y | OU REC | SARDI | NG YOUR B | ID: | (star-) | 1101 36 | 71 | |
| | | l | | | | | ノナニノ | 780-31 | | f |
| | | | | 1 | | | | 486-38 Y <i>Hem</i> | 7 | |
| | CONTAÇ | r Pers | ON (PL | EASE | PRINT CL | EARLY): | 1 | in the | 1000 | |
| | - - | | | , | | | WEND | 1 <i>[]EI</i> n | | |
| | | [| | | | | , | <i>y</i> | \ \ \ \ | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | |] | • | | | | | |
| | ***** | THIS | IS TH | IE EN | OF RFQ | RJC | 693 **** | ** TOTAL: | | |
| | • | | | | | | | | | |
| | | ſ | | ł | | | | | *************************************** | |
| Ì | | | | | | | | | | |
| | | | Ì | | | | | | | |
| | | ĺ | | | | | | | | |
| ļ | | | 1 | | | | | | | |
| | | | | | | | | | | , |
| SIGNATURE | | / | | SEE REVI | ERSE SIDE FOR TI | | DITIONS | In a win- | | |
| /1/ | lun { | | n/n/\ | <u>6</u> | | TELEPHONE |)487-9s | DATE | 12-31-> | 0/0 |
| TILE DIES! | DENT | FEII | 9/-1 | 155. | 2820 | | ADDF | RESS CHANGES | TO BE NOTED A | BOVE |
| WHE | N RESPO | NDING T | O RFQ, | INSERT | NAME AND | ADDRESS I | SPACE AB | OVE LABELE | D 'VENDOR' | ······································ |

BID SPECIFICATIONS SECURITY HYGIENE RJC693

SCOPE

This request for quotation is to establish an Agency contract for the West Virginia Regional Jail and Correctional Facility Authority to supply various personal care/hygiene products for use in Correctional Institutions. This contract may be utilized by other state agencies requiring similar safety and security requirements. These products must be specifically tailored in size, quantity and/or packaging for use in a correctional institution environment. It is the intention of this agency to award one contract. This award will not be split and will be made to the most complete bid and based on the lowest total of all items listed on the attached pricing pages.

**** This contract SHALL not include identical products currently available on other State wide contracts.

All terms and conditions in the written specifications are absolute and the compliance with cannot be waived. Mandatory terms are included by the use of the terms shall, will, must, maximum or minimum.

General Information

1) Vendor shall quote a percentage discount from the lowest price listed in the catalog submitted. The Agency is requesting a percentage discount for each of the listed categories. All items in the discounted category must have the exact same discount. (For example, if a personal care product in the category has a discount of 40%, EVERY personal care product sold in that category must have the same 40% discount). Vendors MAY submit alternate bids by using a separate or additional catalogs. Bids must plainly and clearly indicate the percentage discount for each of the specified categories. Bids that are not clearly identifiable will be disqualified. For bidding purposes, a list of the items most frequently purchased and a yearly estimate of quantity is reflected in the Pricing Page. NOTE: The category discount must apply to all items in that category. Bidders shall not offer greater discounts for items on the pricing pages than the category discount offered. The categories are listed below:

Tooth & Lip Care
Hair Care
Soap
Antiperspirant/Deodorant
Feminine Care
Razors/Shave

- Catalogs must contain certain items specifically designed and packaged for use in Correctional Institutions. Those items are more clearly defined below and identified with an asterisk (*) on the Pricing Page;
 - •Toothpaste (paste or gel) must be available in clear or see-through packages or tubes:
 - •Gel Toothpaste must be available in red;
 - Toothbrushes must be sealed in clear or see-through packages;
 - ◆No-Shank toothbrushes must be made of a translucent material.
 - •Shampoos must be available in clear or see through packets or bottles;
 - Soaps must be available in clear or see through packaging;
 - Deodorants must be available in see through packaging;
 - •Sanitary Napkins must have adhesive strip; be powder free; individually wrapped and available in bulk packaging;
 - Tampons must be fragrance free; individually wrapped and available in bulk packaging;
 - •Razors must be Disposable, Stainless Steel Single Blade with a clear safety cap, and available in bulk packaging;
 - •Shave Gel must be available in single use clear or see through packets;
 - •Soap Boxes must be hinged and constructed of clear material;
 - •Lice shampoo must be available in 1 Gallon size with pump; formula must be non-foaming and fast acting.
- 3) A vendors' catalog should be submitted with the bid and must contain product lines broad enough to meet the needs of the Agency(s) who might utilize this contract. The vendor's most current catalog is preferred. NOTE: Internet catalogs must be submitted in paper format.
- 4) Bidders shall provide all information requested on "RCJ693 Pricing Pages". Bidders should complete all columns. Where an item is unavailable, "No Bid" must appear on the pricing page in the column labeled "Reference or Product #". The pricing page contains a list of the most frequently purchased items however, the discount rate must be extended to all items found and ordered from that specified category. The quantities provided for each item listed on the pricing pages represents the approximate volume of anticipated purchases. The "net unit price" is to be all inclusive and must be the final price that will be charged to the State of West Virginia.
- 5) The "net unit price" shown on the pricing pages will be verified using the percentage discount shown on the pricing pages against the lowest price in the catalog bid. If any discrepancies are found, it may be cause for rejection of bid.
- 6) The lowest cost, most complete bidder shall be awarded a contract. The discount shall remain the same during the entire contract period including any renewals.
- 7) The catalog may be updated at renewal. If the Agency and Purchasing Division extends the offer to renew and the new catalogs have significant price increases, the Agency or the Purchasing Division may decline and re-bid the commodity.

- 8) The successful vendor shall provide catalogs, at no charge, upon request to the various correctional institutions utilizing this contract. Additional catalogs may be required from the vendor at any time. These shall be provided at no cost to the State. Correctional Institutions may obtain the catalogs contacting the contract coordinator listed on the pricing page.
- 9) Orders shall be delivered within five (5) working days after orders are received.
- 10)All bids are to be quoted as F.O.B. destination to any facility location. The minimum order for prepaid shipping to one, facility destination shall be \$200.00. For orders less than \$200.00, transportation charges (if any) may be invoiced as a separate charge with the original freight bill attached to the invoice. Facilities may make purchases that fall under the \$200.00 limit from a local source to avoid the delivery charges only in the event of an authorized emergency.
- 11) Verification of product quality is the responsibility of the vendor. The Agency may require certified mail test data, certifications or samples for testing of the commodity(s) bid. All costs of test samples shall be borne by the vendor as well as freight costs to and from the agency.
- 12) The successful bidder shall not substitute any other brand products from those awarded. Substitution of products will be grounds for cancellation of the contract.
- 13)Bidders must be a manufacturer or a regular stocking licensed dealer for the products offered at the time of bid.
- 14) Successful vendor shall provide quarterly reports and annual summaries showing quantities, dollar value and facilities which have used this contract at the Agency's request. Should these reports be requested, the vendor should submit them to the Procurement Officer of the requesting agency.
- 15) Non conforming materials shall be returned to the vendor at no expense to the State of West Virginia at any time during the life of this contract.
- 16)Internet Access Vendor should be able to provide internet access. If the vendor has such capabilities, this should be so noted in their quotation and shall describe the process for setting up such ordering for state agencies. However, Internet access is not a mandatory requirement.

Reminder to Bidders:

Prior to submitting bids, bidders are cautioned to comply with ALL mandatory bid requirements.

Bidders shall quote a single discount for all items within a single category.

Include dated and numbered catalog(s) – Two Sets Please supply an electronic copy of catalog(s).

Complete the Pricing Pages – including the name and other requested information of the contract coordinator who will respond to agency inquiries on using the contract.

If the price list makes reference to prices being subject to change, those terms are null and void. All price changes shall be in accordance with Paragraph 7 of this request.

Samples MAY be requested during the bid evaluation. Samples shall be received within seven (7) days after request is made and at no cost to the State of West Virginia. Certain items within some categories must be specifically designed and packaged for use in Correctional Institutions. Those items are more clearly defined in Paragraph 2 and identified with an asterisk (*) on the Pricing Page.

The West Virginia Regional Jail Authority facilities utilizing this contract are as follows;

- Central Regional Jail 300 Days Drive Sutton, WV 26601
- Potomac Highlands Regional Jail
 #13 Dolan Drive
 Augusta, WV 26704
- South Central Regional Jail 1001 Centre Way Charleston, WV 25309
- Southwestern Regional Jail
 Earl Ray Tomblin Industrial Park
 13 Gaston Caperton Drive
 Holden, WV 25625
- Southern Regional Jail
 1200 Airport Road
 Beaver, WV 25813

- Eastern Regional Jail
 94 Grapevine Road
 Martinsburg, WV 25405
- Tygart Valley Regional Jail 400 Abby Road Belington, WV 26250
- North Central Regional Jail #1 Lois Lane Greenwood, WV 26415
- Western Regional Jail
 One O'Hanlon Place
 Barboursville, WV 25504
- Northern Regional Jail Rd. 2, Box 1 Moundsville, WV 26041

Division of Juvenile Services facilities that will also utilize this contract include;

- WV Industrial Home for Youth 7 Industrial Blvd., Industrial, WV 26375
- Rubenstein Center
 141 Forestry Camp Road
 Davis, WV 26260

- Donald R. Kuhn Center One Lory Place Julian, WV 25529
- Lorrie Yeager Juvenile Center 907 Mission Drive Parkersburg, WV 26101

- Sam Perdue Juvenile Center 843 Shelter Road, Princeton, WV 24740
- Tiger Morton Juvenile Center 60 Manfred Holland Way Dunbar, WV 25064
- Vicki Douglas Juvenile Center 900 Emmett Roush Drive Martinsburg, WV 25401

- J.M. Chick Buckbee Juvenile Center One Jerry Lane Augusta, WV 26704
- Gene Spadaro Juvenile Center 106 Martin Drive Mt. Hope, WV 25880
- Robert Shell Juvenile Center
 2 O'Hanlon Place
 Barboursville, WV 25504

| | | | | PRICING PAGE FOR RJC693 | PAGE FO | R RJC693 | | | | | |
|--|--|--------|---------------------------|-------------------------|---------------------------------------|-------------------------|--------------------|---|--|------------------------|-------------------|
| | | | | | 8 | ပ | ۵ | ш | ц. | ტ | I |
| ltem | Description | Size | Reference or Product # | t t ge | Number of Items Per Case or Lot | Price per Case / Lot | Unit List Price | Percent % Discount by Category | Net Unit Price | Extended Price | Total by Cutegory |
| | | | | | | | Cal C / Cal B | S. C. | (1-Col E)*Col D | Col A*Col F | |
| | | | | 000 00 | | S | | Ŝ | | おうさ | |
| * 1 | Toothpaste w/ Fluoride - Clear, Clear or See Thru Packet | .15 oz | 下かった | 32,000 | 200 | 451 | 0.045 | 0 | C | 1987 | |
| *2 | Toothpaste w/ Fluoride, - Tube, Clear or See Thru Package, Nature Mint or Equal | zo 9′ | TPobe | 12,000 | 720 | | 21.0 | | 0.00 | 30 | |
| e.* | Red Gel Toothpaste w/ Fluoride Tube, Clear or See Tho. Packaging | .85 oz | J-27-97 | ر 147,000 آ | 44, | 29.95 | 80t 0 | | 0,187 | 2/48/2 | |
| 4 * | Toolhbrush - Sealed in Clear or See Thru Packaning | 3 1/2" | TBS# | 134,000 | 1440 | 59,60 | 400 | | 0,000 | 45.4 | |
| 5 | No Shank Toothbrush - Translucent material | | TRAS | 4,900 | 0.05 1 | をとうで | 0.55 | | Total of Column G | イアイン lines 1 - 5 | 1 7/2/2 |
| | 而 Tooth & Reare (O.A.) | | | | | | | | The state of the s | | |
| | S. C. | | | | | | | | | | |
| * | les | 4 02 | トド4七 | 17,000 | 09 | 77.8 | 245 | 76 | 0.10V | 1777 | |
| * 7 | Shampoo - Clear or See Thru Bottles | 202 | 2420 | 52,000 | 25 | 26.88 | 0.28 | 2 | 0,25.7 | 70/07 | |
| 8 * | Shampoo w/Conditioner Clear or See Thru Packets | .34 oz | J-H5 | 32,000 | 1000 | 454 | 7700 | | 100 to | 12800 | |
| đ | Blue Magic Hair Dressing or Equal | 4 02 | Dan-4 | 90 | 09 | 1/2 | 7 | | 0.765 | 77.00 | |
| ç | Hair Brush – Soft Bristles | 8,, | 1-841 | 600 | グダブ | 1000 | 250 | | Total of Column G lines | 0, 0,0 | 1 / VOX 92 |
| | Hair care Fortal | | | | | | | | | | |
| | | 3 | | | | (金属) かんない | | | | | |
| | SOST CONTRACTOR OF THE CONTRAC | E V | はノク・ | 7,777 2,100 | 77 | () T | クマジー | /0// | 7.65 | 160650 | 7 |
| = | Anti bacterial Liquid natio Soay | 202 | 10,00 | 459,000 | 0 00 0 | 2/20 | 100200 | 2 1 | 4800 | 790951 | N |
| * 12 | in clear or see thru plastic | | シーグライ | √ | 7777 | 77 | 7.0.7 | | Total of Column G lines 11 - 12 | 3 lines 11 - 12 | 21.601.2 |
| | SORPTOTAL | | | | | | | | | | |
| ió A | | | | | | | - | | | | |
| | Ample Spiral Manager And Alcohol Front | 10 3 | | 61.000 | 0 | 00 | / | ~ | 7 00 | 1302081 | |
| * 13 | Deodorant – Stick, Unscented, Alcond Iree, Clear packaging | 20 c. | 510-1/2 | | 1 | 3/2 | 270 | 1887 T | 7117 | 2011 | 73/ |
| 7, | Deadorant - Stick; Unscented, Alcohol free | 2 oz | 570-2 | 800 | 7/0/0 | 200 | 000 | \ \ \ | 1 | 27/2 | |
| 2 | Deodorant Stick Female Fresh Scent or Equal | 1,6 oz | 1570-19 | 1,500 | 0/6/2 | アジグ | 1 2 8 | | Total of Column | Column G lines 13 - 15 | イングと |
| | Antiperspiranti Deodoranti (OTAL) | | | | | | | | | | |
| 10000000000000000000000000000000000000 | | | | が、一つ | | | | | | | |

| | | | | PRICING | PRICING PAGE FOR R.IC693 | R R.IC693 | | | | | |
|------|--|----------|---------------------------|--|--|---|--------------------|---------------------------------------|--|---|-------------------|
| | | | | A | 200 | ပ | 0 | ш | ш | ٢ | |
| item | Description | Size | Reference or Product # | *Est. Annuai Usage | Number of Items Per Case or Lot | Price per Case / Lot | Unit List Price | Percent % Discount by Category | Net Unit Price | Extended Price | Total by Category |
| 3 | | | | | | | Col C / Col B | | (1-Col E)*Col D | Col A*Col F | |
| | Femilipa Gare | PARSA | | | | | | の機能がありません。 | Section of the section of | (1) 10 mm (1) 1 | |
| 16 | Sanitary Napkins – Individually wrapped; Powder free; adhesive strip | Bulk | A7-20 | 418,000 | 000 | が子が | 0000 | 75 | 6 . 7 . 7 | はごうつつ | |
| 17 | Tampons - individually wrapped; fragrance free | Bulk | 202-100 | 18,000 | 200 | # 1 C C C C C C C C C C C C C C C C C C | 1000 | 20/0/ | V V 0.0 | 14/17/2 | |
| 18 | Disposable Bags for Sanitary Napkins or Tampons | 4 x2 x9" | 1 ~ | 5,000 | 36 | 机 | 0.00 m | | 1000 | 1602 | |
| | Feminescate ToTAL COL | 12 E | | | V V | 4 | 7.0 F | O WASHINGTON TO THE REAL PROPERTY. | Total of Column G lipse 48 | 1 A C | |
| | | | | | | | | · · · · · · · · · · · · · · · · · · · | י טופו עו כחומייוו פ | 10 - 10 | 23.936 |
| 19 | Disposable Razor – Stainless Steel; Single blade: Clear safety cap | Loose | 9/12/2/al | 391,000 | (90.5) | C275 | | | | 10000 | |
| * 21 | Shave Gel/Quick Shave or Equal; Single use backet: Clear or See thru Packaring | .25 oz | 21/2 | 354,000 | 2 6 6 6 | | 1000 | 2/2 | 2 400 | 18.76 | |
| | Razorsy Shave riotal | FEFFE | } | | | | 7 4 7 | | C. C + 0 C + 1 C 1 C C C C C C C | 00 | 32,928 |
| | | en e | | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | | | | n v SaMilla e v il. | A Company of the Comp | | |
| 23 | Soap Box - Clear plastic Container with hinge | 1 bar | 21/-10 | 1,200 | 001 | 2000 | | | アンシア | 3000 | |
| 24 | Toothbrush Caps - 144 count | pack | イダンドナ | 7007 | 200 | 1.00 | 25 | 8 | 17/1/20 | | |
| 25 | Lice Control Shampoo-Non Foaming; fast Jacting, with Pump | 1 GAL. | 10000 | 348 | 77 | 2000 | 07.92 | 300 | 98/00/ | 180 | |
| | | | | | T. C. | 00 | | | 7 | X | 12486 |
| Ą | KERAND TOTAL | proper | • 48.5 | | | 15 | | | 等。 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. | Total of Columb H | |
| | | | See a production of | A CONTRACTOR OF THE PARTY OF TH | N. P. S. | W. C. C. C. C. | | · · · · · · · · · · · · · · · · · · · | | | 102 444 |

Bidder / Vendor Information

Vendor Name: Contact Person:

Address:

FAX#
E-Mail Address: Phone #

हिन

| REQ No. | | |
|---------|------|--|
| | | |

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

MUTNICOS TUCESOS ASSOCIATIONS

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

| WITNESS THE FOLLOWING SIGNATURE | |
|---|--------------------------------------|
| Vendor's Name: AMEYCAKE Produ | icts, Inc. |
| Authorized Signature: | Jemmer 7 Date: 12/28/10 |
| State of WASNINGTON | • |
| County of KINA , to-wit: | |
| Taken, subscribed, and sworn to before me this 28 | Sthay of December 2010 |
| My Commission expires TUN 22 | , 2011 |
| AFFIX SEAL HERE | NOTARY PUBLIC XULLI C ALLOKE |
| AFFIX SEAL HERE SALAN | |
| | |
| WASHINGTON | Purchasing Affidavil (Revised 12/15/ |

Rev. 09/08

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

Application is made for 2.5% resident vendor preference for the reason checked:

| | ing the date of this certification; or, Bidder is a partnership, association or corporation r business continuously in West Virginia for four (4) ownership interest of Bidder is held by another indi maintained its headquarters or principal place of | resident vendor and has maintained its headquarters or principal place of years immediately preceding the date of this certification; or 80% of the ividual, partnership, association or corporation resident vendor who has business continuously in West Virginia for four (4) years immediately |
|--------------------------------|--|--|
| | preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate and which has maintained its headquarters or prin- years immediately preceding the date of this certifi | e or subsidiary which employs a minimum of one hundred state residents cipal place of business within West Virginia continuously for the four (4) fication; or, |
| 2. | Application is made for 2.5% resident vendor Bidder is a resident vendor who certifies that, dur working on the project being bid are residents of W immediately preceding submission of this bid; or, | preference for the reason checked: ring the life of the contract, on average at least 75% of the employees lest Virginia who have resided in the state continuously for the two years |
| 3. | affiliate or subsidiary which maintains its headque | num of one hundred state residents or is a nonresident vendor with an arters or principal place of business within West Virginia employing a tifies that, during the life of the contract, on average at least 75% of the mployees are residents of West Virginia who have resided in the state |
| 4. | Application is made for 5% resident vendor problems and better the requirement of both subdiving the | reference for the reason checked: visions (1) and (2) or subdivision (1) and (3) as stated above; or, |
| 5. | Bidder is an individual resident vendor who is a vete and has resided in West Virginia continuously fo submitted; or, | preference who is a veteran for the reason checked: ran of the United States armed forces, the reserves or the National Guard or the four years immediately preceding the date on which the bid is |
| 6. | Bidder is a resident vendor who is a veteran of the purposes of producing or distributing the commodition continuously over the entire term of the project. Of | preference who is a veteran for the reason checked: United States armed forces, the reserves or the National Guard, if, for ties or completing the project which is the subject of the vendor's bid and n average at least seventy-five percent of the vendor's employees are a state continuously for the two immediately preceding years. |
| requirer against or dedu | ments for such preference, the Secretary may order such Bidder in an amount not to exceed 5% of the l cted from any unpaid balance on the contract or pur | |
| authoriz the requ deemed | res the Department of Revenue to disclose to the Dire ulred business taxes, provided that such information I by the Tax Commissioner to be confidential. | any reasonably requested information to the Purchasing Division and ector of Purchasing appropriate information verifying that Bidder has paid n does not contain the amounts of taxes paid nor any other information |
| and ac | curate in all respects: and that if a contract is i | Code, §61-5-3), Bidder hereby certifies that this certificate is true issued to Bidder and if anything contained within this certificate of the Purchasing Division in writing immediately. |
| Bidder: | and the second s | Signed: |
| Date:_ | | Title: |
| *Check a | ny combination of preference consideration(s) indicated abo | ove, which you are entitled to receive. |